oM, T,

10mR3E
1068
20X
301%
4065
5048
601X
7048
801

90 E
T

300

TR [BEE =
E:] 433 50.8
£y 346 40. 6
A~BA 73 8. 6
& 852 100
1—2 FEfE
EEth | EER B
#}I[h 414]  48.6
SHm 166 19.5
ESlIGE 97]  11.4
AT 36 4.2
FRET 29 3.4
ZDfh 37 4.3
BB 73 8. 6!
st 852 100
1-3 FHp
F1 [EES B
10A 4 1.6
101X 7 2.0
201X 5 1.8
301X 42 4.9
401X yil 8.3
501% 18 3.8
601X 05 9.4
701X 248 29.1
801X 90 10. 6
90(RLLE 4 0.5
BB 68 8.0
& 852 100
1-4 B2R
Zo8l | EER =
AR 74 8. T
AR 76 8.9
Bt EZ AL 25 2.9
E¥ReR A% 59 6.9
R R A} 28 3.3
7R - RSP 7 0.8
BREAE 32 3.8
SRR - IR 5 6. 0
HwarE 2 2.5
IR 25 AR} 28 3.3
| FREZEL 14 1.6
SHILZRAE 34 4.0
BRI ORRSM R 25 2.9
EIRAE 53 6.2
WAPRERT 52 6.1
B - BER 56 6.6
INER] 27 3.2
BREL 06 7.7
HBWAZSE 43 5.0
B 81 9.5
a5t 852 100
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[T mEoms

[EEERICDUT]
1 EERICLDHE - AEAS
AmEK s cene POEE | DD | PORE [TETE| XFE
R 827 360 184 254 2 5| 4.0
HBRREL 8.5% 2. 30.7% 2.9%  0.6%
R 835 401 193 215 23 3] 4.16
HBRREL 4.0  23.1%]  25.7w 2.8 0.4%
RS 43.5% 2.2% 30.7% 2.940. 6%
0% 10  20% 305 40%  50%  60%  70%  80%  90%  100%
RETEBE =OOWE  $D5 =OOFE =S TETE
Ra 48.0% 23.1% 25.7% 2.850. 4
0% 10 20% 305 40%  50%  60%  70%  80%  90%  100%
RETEBE =OOBE 505 =OORE =X TETE
2 ERE DR
BmEH| ccemR POBE | 2D | XORE [sTETH| XFIE
RS 827 362 189 247 2 7| 4.06
Ji-1pdnd 43. 8% 22.9% 29. 9% 2. 7% 0. 8%
R 829 400 183 213 27 6| 4.14
BRI .34 2.1 257y .38 0.7%
RS 13.8% 2.9 20.9% 2.780. 8%
0% 108 20% 305 40%  50%  60% 0% 80%  90%  100%
RETHEBE s OOBE 505 cvORE s TERE
R 48.3% 2.1% 25.7% 3.380.7
0% 0% 20%  30%  40%  50%  60% 0% 80%  90%  100%
RETHEBE = OOBE 505 cVORE s CTERE
(B&EHIC DL T
1 AR
AmEK s cene] POEE | DD | ROFRE [TETE| XFE
RS 815 370 186 250 8 1 4.12
HBRREL 45.4% 2.8 30.7% 1.0%  0.1%
R 818 377 228 204 7 2l 419
HBRREL 46.1% 2798  24.9% 0.9%]  0.2%
RS 15.4% 2.8 30.7% 1.0%0. 1%
0% 105 20% 305 4% 50%  60%  7T0%  80%  90%  100%
RETEBE =OOBE 505 =OORE =X TETE
Ra 16.1% 27.9% 2.9% 0.9%. 2%
0% 10 20% 305 40%  50%  60%  70%  80%  90%  100%
RETEBE =OOBE 505 =OORE =X TETE




(ZDABDEEIC DT

1 _FEWFE VD -KEQIZTH—L)
EREEH| ECHER] PVHEE | DD | OO | TETE| XFEHE
R 722 284 145 285 7 1 3.98
HBRREL 39.3%  20.1%|  39.5% 1.0%  0.1%
R 36| 288 175 264 6 3] 4.00
HBRKEL 39.1%  23.8%|  35.9% 0.8%  0.4%
RS 39.3% 20.1% 39.5% 1.0%0. 1%
0% 10  20% 305 4% 50%  60%  70%  80%  90%  100%
RETEBE ROOBE 805 S0ORE "L TETE
Ra 39.1% 23.8% 35.9% 0.4%0. 4%
0% 105 20% 305 4% 50%  60%  70%  80%  90%  100%
RETHHE ROOBE D5 SDORE =L TERE
2 EXEE (ST -£5HEY)
ERMEIER ECHER] POEE | DD | OO | ETETE| XFHEHE
R 819 313 158 331 12 3.93
HBRREL 38.2%  19.3%|  40.4% 1.5%  0.6%
R 837 320 167 326 2 2l 3.93
HBRKEL 38.2%  20.04]  38.9 2.641  0.2%
RS 38.2% 19.3% 40.4% 1.80. 6%
0% 10 20% 305 40%  50%  60%  70%  80%  90%  100%
RETEBE =OOWE  $D5 =DOFE =S TETE
Ra 38.2% 20.0% 38.9% 2.640.24
0% 10%  20% 305 4% 50%  60%  70%  80%  90%  100%
CETLER sOOBE D5 svORE =L TERE
3 MREEE Rm- 11— - 0 ESHRE)
BREEH s TEBR] ©Vim MDD [ OPm [ETETE| XEAE
R 540 236 114 184 5 4.07
HBRREL 8.8 21% 34.1% 0.9 0.2%
R SaA| 247 27 160 9 1 412
HBRKEL 45.4%  23.3]  29.4% L7%  0.2%
RS 83.7% 21.1% 38.1% 0.9%| 0.2%
0% 10  20% 305 4% 50%  60%  70%  80%  90%  100%
CETLER =OOBE D5 ~vORE =L TERE
Ra 45.4% 23.3% 2.4 1.7% | 0. 2%
0% 10  20% 305 4% 50%  60%  70%  80%  90%  100%
CETLER sOOBE D5 ~vORE =L TERE




4 JAEUBE(SEOARTUNEY NS EEESER < ETL)
EYMEIER s CHER] PREE | DD | OO | ETETE| XFHEHE
R 151 66 28 52 5 4.03
HBRREL 43.7%  18.5%  34.4% 3.3 0.0%
R 29 60 26 38 4 1 4.09
HBRKEL 46.5%  20.2%  29.5% 3.1% 0.8%
RS 83.7% 18.5% 34.4% 3.3
0% 108 20% 305 40%  50%  60% 0% 80%  90%  100%
RETHEBE =sOOBE 505 cvORE s TERE
Ra 46.5% 20.2% 29.5% 3.140. 8%
0% 108 20% 305 40%  50%  60% 0% 80%  90%  100%
RETHEBE = OOBE 505 cvORE s TERE
5 ZFofth (HEHEREEEES (LYY, CT. MRIRY) )
BHRZEH ETCEBE] PVOEE | 2D | OV Fum [ CEE XEHEE
R 240 183 105 126 5 1 4.05
AL A.6%  23.9%  33.2% 1.1% 0.2%
R 126 185 13 123 5 0] 412
&AL 43. 4% 26. 5% 28. 9% 1.2% 0. 0%
RS 0.6 23.9% 3.2 1.1%0. 2%
0% 10 20% 305 40%  50%  60%  70%  80%  90%  100%
RETEBE =OOME  $D5 DOFE =S TETE
R 13.4% 26.5% 28.9% 102
0% 105 20% 305 40%  50%  60%  70%  80%  90%  100%
RETEBRE sOOBE 805 SOORE =L TETE
M Fexakim - T—E X]
1 RAFRTVETRY
FHOEH s ceme] PORE | DD | WOFRE (TR XFE
R 765 169 180 393 19 4 3.64
HBRREL 2.1%  23.5%|  51.4% 2.5%|  0.5%
R 785 72 181 392 3 8| 3.61
HBRREL 2.9% 2318 49.9% 4% 1.0
RS 2.1% 23.5% 51.4% 2.5% | 0.5%
0% 0% 20%  30%  40%  50%  60% 0% 80%  90%  100%
RETEBRE sOOBE 905 DOFE sETETE
Ra 21.9% 23.1% 49.9% a1 o
0% 108 20% 305 40%  50%  60%  70%  80%  90%  100%
RETEBE =OOBE 505 =OORE =X TETE




2 T4 NI —(REDK

HOEH s cene] PORE | DD | PORE (TR XFE
R 741 204 138 379 12 6| 370
HBRREL 27.5%  18.6%|  51.1% 1.9%  0.8%
R 8 229 148 376 21 4 374
HBRREL 20.4%  19.08]  48.3% 7% 0.5%
RS 27.5% 18. 6% 51.1% 100k0. 8%
0% 108 20% 305 40%  50%  60%  70%  80%  90%  100%
RETEBE =OOBE  5D5 =OORE =X TETE
0% 10 20% 305 4% 50%  60%  70%  80%  90%  100%
RETEBE =OOWE  $D5 =DOFE =S TETE
3 EEPEBADORS
BMEEH cceme] POBE | 2D | XOFRE |[cTEmEH| XFIHE
RS 503 116 95 265 17 0] 3.58
TR 23.1% 18.9%|  52.7% .44 2.0%
R 509 129 91 265 23 1 3.64
BRI 25.3% 17.9%]  52.1% 4.5%  0.2%
0% 10 20% 305 40%  50%  60%  70%  80%  90%  100%
RETEBE =OOWE  $D5 =DOFE =S TET
0% 0% 20%  30%  40%  50%  60% 0% 80%  90%  100%
RETEBE =OOBE 505 =OORE =rTETE
4 EFROIKR
FHOEH s ceme] PORE | DD | WOFRE [cTEmE| XFE
R5 796 320 206 260 9 11 4.05
HBRREL 40.2% 2504 327y 1.1%  0.1%
R4 820 310 238 263 8 11 4.03
HBRREL 37.8%  20.0%]  32.1% 1.0%  0.1%
RS 40.2% 25.9% 2.7% 1.1%0. 1%
0% 108 20% 305 40%  50%  60%  70%  80%  90%  100%
RETEBE =OOBE 505 =OORE =X TETE
R 37.8% 200 32.1% 1.0%0. 1%
0% 0% 20%  30%  40%  50%  60% 0% 80%  90%  100%
RETEBE ROOBE 805 SOORE "L TETE




5 ZOoftt (Rkeh 5 DIEHRAE

(L3R) )

HOEH s cene] PORE | DD | PORE (TR XFE
R5 632 75 89 431 28 9] 3.31
HBRREL 1.9 14.1%]  68.2% 4.4% 1.4
R 655 79 86 459 27 4 3.3
HBRREL 2.0 1318 70.1% 4.1%  0.6%
R5 68.2% 4.0 o
0% 10  20% 305 4% 50%  60%  70%  80%  90%  100%
RETEBE =OOWE  $D5 =DOFE =S TETE
R4 70.1% 214 0. 6
0% 108 20% 305 40%  50%  60%  70%  80%  90%  100%
CETLER =DOBE D5 sDORE =L TERE
IV =5
1 Z2RFTOFERE
BARZEH ECEBE] PVOEE | 2D | O Fm [ CEhE XEHEE
R5 813 102 125 330 193 63] 3.01
HBRREE 12.5% 15. 4% 40.6% B T
R 833 100 5 317 711 90| 2.91
tERkEL 12. 0% 13.8% 38.1% 25.3% 10. 8%
Gl 12.5% 15. 4% 40.6% 23.7%
0% 108 20% 305 40%  50%  60%  70%  80%  90%  100%
RETEBE =OOWE  $D5 =DOFE =S TETE
R4 38.1% 25.3%
0% 10  20% 305 40%  50%  60%  70%  80%  90%  100%
RETEBE =OOWE  $D5 =DOFE =L TETE
2 Fofth (REOFSERE)
BURZEH ECEBE PVOEE | 2D | O Fum [ CEhE XEHEE
R 782 74 124 17 129 13| 3.07
HBRREE 9.5% 15.9%|  52.7% 16.5%|  5.5%
R 802 68 125 012 163 34 3.04
HBRREE 8.5% 15.6%  51.4% 20.3%  4.%%
R5 52.T% 16.5%
0% 108 20% 305 40%  50%  60%  70%  80%  90%  100%
RETEBE = OOWE 505 =DOFE =L TET
R4 51.4% 20.3%
0% 10 20% 305 40%  50%  60%  70%  80%  90%  100%
RETHHE ROOBE D5 SDORE =L TERE




V_ e
1 HREREERET VY —ZFHUVWAICETITHLESEBVETH?
BYEEH| T T DB [26367905| eoscearnn|5xUTTonn [ IHRL XIIE
R 785 274 7 210 23 7 4,00
Ji-1pdan 34.9% 34. 5% 26. 8% 2.9% 0.9%
R 797 303 255 217 7 5| 4.05
&AL 38. 0% 32. 0% 21.2% 2.1% 0. 6%
RS 34.9% 34.5% 26.8% 2.980.9%
0% 108 20% 305 40% 505 60% 0% 80%  90%  100%
TIHE  wEBEHTTHE  CESCEDAAL HEUTIHORLN = TTHEL
R 38.0% 32.0% 21.2% 2.180. 6%
0% 10 20% 305 40%  50%  60%  70%  80%  90%  100%
CTIDE  EBEHTTHE  CESCEDAAL HEUTIHRLN = TTHEN
[E{FithA!)
BIEEE] I gD [26359905] cooctarnn] 520730803 3HAL] XIEE
9T 409 29 135 124 17 4] 3.9
tERkEL 31.5% 33. 0% 30. 3% 4. 2% 1. 0%
SHM 159 52 59 3 3 2 3.98
Rt 32.7% 37.1%  27.0% 1.9%  1.3%
5l %] 45 77 7 1 11 4.19
B 46.9%  28.1%  22.9% .05 1.0%
BRilaT 36 17 15 4 0 0| 4.36
HERLE A% AT 11.1% 0.05]  0.0%
FRHET 29 7 14 8 0 0 3.97
18Rk 24.1% 48. 3% 21. 6% 0. 0% 0.0%
Z DA 37 15 K 8 2 0| 4.08
tERRE 40. 5% 32. 4% 21. 6% 5. 4% 0. 0%
#l ; 30.3% i a2 1.0%
s3gt 27.0% | 1.9%M 1.3%
el zz.9%| 1.0%0 1. 0%
T |l1.1% ‘
) 27.6%
|
20t 0. 5% e s
0% 0% 20%  30%  40%  50%  60% 0% 80%  90%  100%
CTTHD EBESTTHE EESEEEARL 1HEYTTHAL s TTHAN
((A&ER (EH) 7]
ENEER| I 90 D|56369 905 coorearsn| 52099060 TIHRL] XEHE | (5] FEBEHRH (A~H) |
9/11(H) 156] 53 59 33 2 21 401 1120
AL 3.0 37.8%  24.4% 2.68  1.3% * '
A0 I 131 Y] 53 3 5 21 40 " 07
1558 38.5%]  32.0%|  24.2% 3.0%  1.o% * '
tERkEL 37. 0% 29. 9% 29. 9% 3.2% 0.0% : ’
9/14(A) 64 59 55 I, 6 21 399 974
tERkEL 36. 0% 33.5% 25. 6% 3. 7% 1.2% .
9/15(2) 150 43 58 15 3 1 3 03 970
&AL 28. 7% 38. 7% 30. 0% 2. 0% 0. 7% :
| |
9/11(8) 2.4% 2068 1. 3
9/12(%) 20.2% i 1.2
9/13(k) 2|9. o 2% 0.0%
9/14(K) 25. 6% 7l 1. 2
9/15(2) 0.0y 2.080 0.7
0% % 20%  30%  40% 50%  60% 0% 80%  90%  100%
TIDD REBEHTIND EESELTARL fHEUTTHHRL 1FTTHAL




